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Factoring #2: Grouping (4-ferm polynomials)

' Factor by grouping the first two terms together, the second fwo ferms together, and removing @
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Factoring #3: Factoring trinomials (Gx# + X + C) .
X-Factor (what multiplies fo "ac  that adds to “b*), split into four terms, and continue by grouping.
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44: Difference of Squares a? - b2 = (@ - b)(@ + D)

Factoring binomials in order for this to work

must be a subtraction sign and two perfect square
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Just remember to use SOAP
Same - Opposite - Always Positive
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